TEMPLATE:
WFLX 29 TXR SITE
MAIN CIRCULATING PUMP A:

VOLTAGES

Waltage A/L1
72368 72368 72368
<
D00 000 000
F23EE  723ER F2IEB . : :
0.0ms 1B.7 ms/Div
Current &/
N4 34 4 3
4l 41a
22 22 2312 .
00ms 16.4 ms/Div

NEUTRAL: NONE

Datablock

Mame  =“oltage A/LT Woltage B/L2
Date  =2/23/2010 2/23/2010
Time  =2:3%53PM 2:33:53PM
Y5cale = 723EBV/Div | 72363V Div
T ALEDE = 0.00v 000y
HScale = 167 meDiv] 167 ms/Div
Haln = .0 ms me
¥ Size  =300(300) 300 (300)
Masimurn = 384.37 38713V
Minimurn = -386.09V 38763V
Mame = Woltage N
Date =2/23/2010 2/23/2m0
Time: = 23953 PM 2:39:54 PM
¥ Scale = 723.68V/DW | 72363V Div
W ALEDE = 0.00v 0.00v
KScale = 167 me/Div| 167 me/Div
marl% = 0.0 ms ms
® Size  =300(300) 300 (300)
Maximum = 38350 043y
Minimum = -385.27 022y

Cursor Values
®1 209 ms
K20 294 ms
dx 85 ms
Y1 38281V
W2 -384.49Y
dv: FELAY

Datablock

MName = Curent AT |Cunent B2
Date =2/23/20010 |2/23/2010
Tirne: =2:3358 P | 2:33:58 PM
¥ Scale = 27.3A/Dk | 27.3 AMD
Y ALEDE = 4714 41 &
#5cale = 164 ms/Div| 16.4 ms/Div
Kat0z = 00ms 0.0 me
X Size  =295(300) |295(200]
Mawimum = 764 78 A
Minimum = -B0A 3 A
MName = Current M
Date  =2/23/2010 |2/23/2010
Time — =2:3353PM |2:33.53PM
Y Scale = 273AMD0N | 273A/Div
YALEDE = 414 0.414
#Scale = 164 ms/Div| 16.4 ms/Div
XAr0%k = 00ms 00 ms
%Se  =295(300) |29 (300)
Maximum = BS54 D11A
Minimum = -694 0154

Cursor Values
®1: 176ms
®2: 260ms
d¥: B3ms
Y1: 7EA
Y2 04
d¥: 1564




PHASE OVERLAYS:

2763 v

"2790 v

39.98H=z O 00030 X -2x =¥

02£23710 14:40:18 277l G0Hz38 WYE DEFAULT

HABLC &Z00M Ve . RUN

UVOLT AMP  CURSOR F. VOLTAGE HOLD

39.98H=z O 00033 % 2%

024237110 14:40:21 277l G0Hz38 WYE DEFAULT

UVOLT AMP  CURSOR F'--,_' VOLTAGE HOLD
HEANE PE & Z00M "y A RUH

“2754vf 4R

" 02v|" 0A

02723510 14:40:25
UOLT AMP CURSOR F. UOLTAGE HOLD
-

2770 G0Hz3H WYE DEFAULT

HABC &Z00M £ & RUN

59.98Hz G 0:00:37 A -2x < 59.98Hz G 0:00:26 A -2x <
ey s S s amm BB 400 :
Rl

02423710 14:40:14 2770 G0Hz3H WYE DEFAULT

UVOLT AMP  CURSOR "-.H VOLTAGE HOLD
HEANESE & Z00M "y A RUH




HARMONICS:

Harmonics

A THD 4.2 %f

THODC 1 3 3
02F23410 14:40:57

A B C
ALL

U R H

& 0:00:02

[ 9 11 13
277l 60Hz 38 WYE

1-HARM.
METERSS SON OFF

T | e I T TP T R S S,

15 17

DEFAULT

HOLD
RUH

Harmonics

ATHD S8%FIFK 1.2 |

o oe

T .
THODG 1 3 5
02723710 14:41:00

A B C
48 A SRS SN ALL

S U 1 I T Fa

[y 9 11 13

2770 60Hz 38 UYE

I-HARM.
UHY OFF

& 00005

R T

METER

CrEE e g g pe—

15 17

DEFAULT

HOLD
RUH

Harmonics
418
1I_._..[ﬁ{| e

THODC 1 3 3
0223410 14:41:08

Lo oomeed oL

ATHD 1.04FQA K 0.7

& 0:00:13

R AR R
277l 60Hz 38 WYE
1-HARM.

OFF

[

gty g

15 17

DEFAULT

HOLD
RUH

HARMONICS TABLE
T 0:00:35 ¥ =~E
Volt A B C N
THD:¢ i2 2 48 2327
H3x¢ 29 31 38 868
HS::¢ 15 1.4 1.1 608
H7=:¢ 08 1.0 12 458
Amp A B C N
H3x¢ 1.0 2.8 2.1 855
HS::¢ 4.1 2.7 5.3 848
H7=:¢ 30 38 1.7 832
02723710 14:41:3 277U 60Hz38 WYE DEFAULT




100

30

a0

T

E0

100

90

a0

70

EO

100

50

a0

T

E0

2 Wolts A/L1
H — Datablock —

Mame = Yalts A/LT
Date = 2/23/2010
Time = 2:40:54 PM

Fund = E0.0Hz
THDf = d42%
— Cursor Values —
%<1 : 180.0Hz
%<2 ED99Hz
dx : 479.9Hz
1 29%
2 17%
dy A1%
Phl 56 *
Ph2: 1268 ~

0198 11338 12583 13748 M98 16193 17383 18698 19TAT 20097 22187 23397 24537 26747 26395 28196 29006
Frequencies (Hz)

1200 3000 4198 6383 7783

Wolts BALZ
— Datablock —

Name = Valts B/L2
Date =2/23/2010
Time = 2:40:54 PM
Fund = B0.0Hz
THDf = 41%

— Cursor Values —
x%1: 180.0Hz

Al 1%
2 08%
dy : 23%
Phi: M7 *
Phe2: 138 *

R Rl EE R R R FEEEE S EREEEPREE
o
ks
o
i)
]
w
T
A

1800 3000 4199 5399 6599 7793 8993 0199 1398 12508 13798 WOUB 16199 17399 19598 19797 20097 22197 23397 24597 25797 26996 29196 29296
Frequencies [Hz]

Wolts C/L3
— Datablock —

Mame =Valts C/L3
Date = 2/23/2010
Time = 2:40:54 PM

Fund = E0.0Hz
THDf = 49%
— Cursor Values —
%<1 : 180.0Hz
x2 779.9Hz
dx 599.9Hz
1 8%
2 13%
dy 25%
Phl 1
Phz 16~

;?S§ 8998 10133 1133.3 12603  137A8 MO8 1619 17398 18698 197AT 20007 227 23397 2457 267AT7 26996 23136 29098
Frequencies (Hz)

- - -
4138 6389 6GAS

-
1200 3000



Armps AJLT

— Datablock —

100
Mame = Amps &/L1
an Date = 2/23/2010
Time = 2:40:54 PM
Fund = EB0.0Hz
a0 THDf= 58%
KFact= 1.2
o — Cursor Values —
%<1 300.0Hz
a0 X2 2279.7Hz
dx ;19797 Hz
Al 44%
50% 2 01
dy 43%
Phl 64 7
40 Ph2: 258
an
20
10
. i T
B0.0 1800 3000 438 5338 6GAS FAd
Frequencies (Hz)
Amps BAL2
100 17 % " — Datablock —
3 Mame = Amps BALZ
a0 i Date =2/23/2010
: Time = 2:40:54 PM
| Fund = B0.0Hz
80 : THDf = EEX
| KFact= 13
e : — Cursar Valugs —
%1: 419.9Hz
0 : 2 BE39Hz
| dx 240.0Hz
; 1 39%
50% ' Y2 21%
vy A7%
: Phi: 4 °
@ : Ph2: A%
an
£l
10 3
Te0n @00 W00 493 5998 588 7799 0959 0IG9 U908 ISAE  DVAE MO9S WME 998 WSO8 W7A7 W97 2097 297 MEOT 577 Z9E ZNE 296
Frequencies [Hz]
Amps C/L3
— Datablock —
Mame = Amps CAL3
Date = 2/23/2010
Time = 2:40:54 PM
Fund = EB0.0Hz
THDf= 7.3%
KFact= 1.3
— Cursor Values —
<1 300.0Hz
=2 E89.9Hz
dx: 3E0.0Hz
Al 66%
2 28%
dy 27%
Phl a0 -
Phz }| -

1800 2000 4138 5393 G5B FTRS 8988 10193 11383 12698  13VH8 MOAE 16198 (7398 13583  19PAT 20007 22187 23397 24697 26TAT 26996 28196 29395
Frequencies (Hz)



100

a0

EO

100

a0

E0

20

40

£0

80

-100

100

a0

E0

40

20

20

40

£0

80

-100

“wiatts AT

— Datablock —
Mame = ‘watts AL

Time: 40:54 PM
Fund = E0.0Hz
KFact= 07
— Cursor Values —
%< 1: 300.0Hz
%20 2279.7Hz
dx: 1979.7Hz
vl 04%
2 0.0
- dy 0.4%
1200 3600 599.9 8399 10739 13198 155348 17938 20297 22797 25197 27996 29996
Frequencies (Hz)
1 Walls BALZ
T — Datablock —
: Name =‘watts B/L2
: KFact= 21
: — Cursor Values —
; %1: E0.OHz
: x%2: E59.9Hz
! dx: B3539Hz
| 1o 1000%
: v2:  15%
- dy: 985%
1200 0.0 B399 822349 10799 12198 18898 17998 20297 22797 28197 27598 2999
Frequencies [Hz]
4 2 Watts C/L3
T T — Datablock —
: : Mame =‘watts C/L3
: : KFact= 08
: : — Cursor Values —
; H x1: 180.0Hz
: *%2: E59.9Hz
t v dx:  475.9Hz
| H 1 05%
; i v 2 0.3%
T — B ettt v 4%
1200 0.0 B399 822349 10799 12198 18898 17998 20297 22797 28197 27598 2999

Frequencies [Hz]



TRENDS:
VOLTAGES:

e el SR L RS
28123 28123 282
2021 2021 20
2719 27313 27319
2r8A7 2y 2y
27716 > 27715 = 27715 = 3
27613 2713 27RA3
2711 27 2
27408 27409 27409
27307 27307 27ay

27205 27205 2205«

W Rms &/01

000000 102 s/Div
CURRENTS:

08 1068 08 : 2 & Rims &/L1

a4 94 a4

B0 B0 &0

BE EE 6

52 52 52

384 28 334’-"‘%’{ g ] _
24 24 24

w1 0

0404 04

18 s 8

a7 37 a7 . : !

000000 9 5iDiv
WATTS:
W Furd Tatal

491 48 45 4m
43 43 435 438

I s B T

a2 2 a2 3mo T
2E6  2BE  JHE ZEE
210% 210% 2102 2103
154 154 151 154

0% 08 0% 038

042 D& 042 042

Q14 014 074 014
Q7 00 070 070 s

00:00:00

39 5/Div

Datablock
Mame =% Rms&/L1 |V FBms B/12
Date  =2/23/2010 |2/23/20
Time  =4:41:42PM |4:41:42 PM
Y Scale = 1.02%/Div| 1.02%/Div
W aEB0% = 27715 Y 27715V
KScale =102  s/Div (102 s/Div

Aat0%  =00:00:00 00:00:00
ASize  =194(194] 1594 (194)
Maimum = 278,58 279.43v
inimum = 27663 27780V

MName =" Fm: C/L3
Date  =2/23/2010
Time  =4:41:42PM
Y Scale = 1.02V/Div
¥ ALED% = 277.18Y
#Scale =102 s/Div
X AL0% = 00:00:00
%S =194[194)
Maximum = 275,53
Minimum = 273984

Cursor Values
#1 (0d 00:00:10 (2/23/2010 4:41:52 PM)
®2 (0d 00:00:29 (2/23/2010 4:4211 PM]
dx 0d 00:00:19
Y1 277.00 277.33 27765V
Y2 27726 27768 279.32v
dy 026 030 067V

Diatablock

Name =& Rms A/LT |4 Fms B/LZ
Date  =2/23/2010 |2/23/2010
Time  =4:41:42PM [4:41:42 PM
Y5cale = 144D | 144D
TALEDE = 3BA 38A
H¥Scale =98 +/Div |98 5/Div
HAr0% =00:00:00  (00:00:00
X Size  =134[194) [134(194)
Masimurn = 4.3 4 644
Minimum = 4.7 4 524
Mame =& Fmz L3
Date =2/23/2010
Time =4:41:42 P
YS5cale = 1.44/Div
YALEDEZ = 384
X Scale =98 «/Div
HAD% = 00:00:00
HSize  =134[194)
Maximum = 494
Minimum = 484

Cursor Values

A1 Od 00:00:1
0d

dx Od 00:00:19
V141 42 42A
V242 42 42A
d¥: 01 00 004

0(2/23/2010 4:41:52 PM)
9 (2/23/2010 4:42:11 PM)

Datablock

MName =% Fund &/7 [ Fund B/L2
Date =2/23/2010  |2/23/2010
Tirne: =441 42P | 4:41:42 PM
¥ Scale =561  W/Div|SE1  W/Div
YALEDE = 210kw 210k
X5cale = 99 s/Div | 99 s/Div
AAL0%  =00:00:00 00:00:00
X Size  =194[194) 194 [194)
Maimum = 097 ki 119k
Minimum = 091 kiw/ 116 ki
MName =" Fund C/L3 [W Fund Total
Date  =2/23/2010  |2/23/2010
Time — =441:42PM  [441:42PM
Y Scale =8B1 W/Div[GE1  W/Div
YALEDE = 210 kw 210k
#Scale = 93 /Div [ 99 =/Div
X AL0% = 00:00:00 00:00:00
%Se  =194[134)  |194[194)
Maximum = 1.20 ki 3.32 ki
Minimurm = 116 k' 327 ki

Cursor Values

#1 0d 00:00:10(2/23/2010 4:41:52 PM]
K2 0d 00:00:23 (2/23/2010 4:42:11 FM]
dix 0d 00:00:19

Y1328 329 331 KW

Y2 329 329 329KwW

d: 000 0.00 -0.01kw




VA WATTS:

EE1 EE1
580 5490
20 520
443 443
7 37

= o
08z 308

23 237
167 1E7
096 096
026 026
045 045

VAR:

382 38z
339 3
259 298
253 253
210 210

1675 1675
Tz T2

124 124
0gr 0E
03 038
005 005
048 048

661

5.90

820

449

379

E
U F

237

167

0.96

0.z6

045

& Fund Total

00:00:00

382
338

296

210
1675
=
124
081
038
005

048

LT

99 +/Diw

AR Fund Total

A L e G A S e

(e

Datablock

Name  =%A Fund A/L1 |44 Fund B/LZ
Date  =2/23/2010 (272372010
Time  =4:41:42PM  |441:42PM
W5cale =706 WA/Div|TOE  WADiv
TALEDE = 3.08 kKva 308 kv
H¥Scale = 99 &/Div | 93 &/Div
HAr0% = 00:00:00 00:00.00
X Size  =134(134) 194154
Masimurn = 1.21 kvia, 1.52 kv
Minimum = 1.T6 kvis 1.47 kv
Mame = W& Fund Total
Date =2/23/2010 24237200
Time =4:41:42 P 4:41:42 PM
YScale =706 WA/MDv[TOE  VADiv
YWALEDE = 308 kKva 308 kv
KScale = 99 &/Div | 99 =/Div
HAD% = 00:00:00 00:00.00
HSize  =134[194) 194 (1594
Maximum = 1.37 Kivié, 407 kv
Minimum = 1.33 kv 401 kv

Cursor Values
#1 0d 00:00:48 [2/23/2010 4:42:30 PM)
®2 0d 00:02:25 [2/23/2010 4:44:07 PM)
dx 0d 00:01:37

V2403 404 405k
d: 0.00 0.00 0.01 kWA

00:00:00

POWER FACTOR:

118 118
108 09
103 103
097 0597
0g1 051

0864 085

079 079
073 073
0E7  OE7
0BT 0B
055 055

118

1.09

1.03

o497

100 s/Diw

FF Total

Diatablock

Name  =%AR Fund &/L1 |VAR Fund B/LZ
Date  =2/23/2010 2/23/2010
Time  =4:41:42PM 4:41:42PM
‘W 5cale =430 WAR/Div|430  WaR/Div
YALEDE = 1E7 kvAR 167 KviaR
H¥Scale =100  /Div  |[100  s/Div
HAr0% = 00:00:00 00:00:00
X Size  =134(134) 134 (154)
Masimurn = 0.75 kKVAR 0.98 KvAR
Minimurm = 071 kKVAR 0.91 KvaR
Mame = WaR Fund Total
Date =2/23/2010 2/23/2mn
Time =4:41:42 P 4:41:42 PM
YScale =430 WARDiv|430  WAR/Div
YALED%Z = 1ET kVAR 167 KvaR
XScale =100  #/Div  |100  $/Div
HAD% = 00:00:00 00:00:00
HSize  =134[194) 194 (194)
Maximum = 068 KWvaR 235 KVAR
Minimum = 0B4 KvaR 228 KVAR

Cursor Values
#1 0d 00:00:48 [2/23/2010 4:42:30 PM)
®2 0d 00: 6 (2/23/2010 4:44:07 PM)
dx (0d 00:01:37
W1 23 232 232KVAR
W2 23 231 232KVAR
d¥: 0.00 -0.01 0.00kvAR

Dratablo

Name  =PF A1 FF B/L2
Date =2/23/2010 2/23/2mo
Tirne: =4:41:42 P 4:41:42 PM
Y Scals

Y ALE0% = 0.65PF

=60 mPF/Div |60 mPF/Div
85PF

081

08 «

00:00:00

99 s/Div

X5cale =93  sOi |99 sDiv

AAL0%  =00:00:00 000000

X Size  =194[194) 194 [134)

Maimum = 0.80 PF 0.76PF

Minimum = 0.78 PF 077 PF

Name = PF Total

Date  =2/23/2010  |2/23/2010

Time — =441:42PM | 441:42PM

Y Scale =B0  mPF/Div|ED  mPF/Div

Y ALE0% = 0.85FF 0.85PF

#Scale =33 oDiv |99 s/Div

X AL0% = 00:00:00 00:00:00

%S =194[194) 194 [194]

Maimum = 0.88 PF 0.82PF

Minimurm = 0.85 PF 0.81PF
Cursor Values

#1 (0d 00:00:48 (2/23/2010 4:42:30 PM)

®2 (0d 00:02:25 (2/23/2010 4:44:07 PM)

dx 0Od 00:01:37

Y1: 081 081 O81FF

Y2 081 081 O81FF

dv: 0

00 0.00 0.00PF




DISPLACEMENT POWER FACTOR:

110110 110110

1.05 1.05 1.05 1.05

1.00 1.00 1.00 1.00

0.95 (.95 (.95 0.95

0.90 050 0,90 0.90

1

DFF Total

Datablock
Name =DPF A/1 |DPF B/L2
Date  =2/23/2010 |2/23/2010
Time — =4:41:42PM (4:41:42 P
Y5cale = 0.06/Div 0.05 /Div
YALEDE = 085 0.85

#¥Scale =100  s/Div[100  s/Div
HAr0% = 00:00:00 00:00:00

0.95 085 025 0.85

i
080 080 020 080y &

e

R N N NI SO T N D T e VD o
i P e o —

078 078 075 0.78

0.70 0F0 070 0.70

0.65 0B5 06D 0.65

0.B0 (LED (LED D60

00:00:00

100 /Diw

X Siee  =134(194) [194(194)
Masimurn = 0. 079
Minimum = 0.7% 077
Mame  =DFF /A3 |DPF Total
Date =2/23/2010 |2/23/2MM0
Tirne: =441 42PM | 4:41:42 P
YScale = 0.05/Div [ 0.05/Div
YALED% = 085 0.85
X Scale =100  +/Div(100  s/Div
HAD% = 00:00:00 00:00:00
HSize  =194(194) (194 (194)
Maximum = 083 0.a2
Minimum = 087 0e
Cursor Values
#1 0d 00:00:48 [2/23/2010 4:42:30 PM)
®2 0d 00:02:25 [2/23/2010 4:44:07 PM)
dx (0d 00:01:37
Y1 081 082 082
Y2 081 082 082
d¥: 000 0.00 0.00




